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faiiE - A ME: 4.00 m EHENo. 118
=k 26-42cm A : 17 Mg : 8.296 m
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g - ¥ ME: 4.00 m
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faiiE - ¥ ME: 4.00 m EHENo. 122
=k 32cm P g 1 Mg : 0.410 m

BE . ¥ ME: 400 m EHNo. 123
=% - 38cm - 1 7 - 0.578 m



faiiE - ¥ ME: 4.00 m EENo. 124
=k - 32-34cm & : 3 & : 1.334 m

BE . ¥ ME: 400 m EHNo. 125
=% - 34cm - 1 7 - 0.462 m



s - & ME: 4.00 m E1HENo. 126
=, 34cm P 1 & . 0.462 m

BE . ¥ ME: 400 m EHNo. 127
=% - 34cm - 1 7 - 0.462 m



faiiE - ¥ ME: 4.00 m EHENo. 128
=k 36cm x#: 1 Mg : 0.518 m

BE . ¥ ME: 400 m EHNo. 129
=% - 38cm - 1 7 - 0.578 m



1BfE . ¥ ME: 400 m EIENo. 130
=% - 34cm R - 1 & - 0.462 m

BE . ¥ ME: 400 m EHNo. 131
=% - 36cm - 1 7 - 0.518 m



faiiE - ¥ ME: 4.00 m EHENo. 132
=k : 38cm x#: 1 Mg : 0.578 m

BE . ¥ ME: 400 m EHNo. 133
=% - 40cm - 1 7 - 0.640 m



s - & ME: 4.00 m EIENo. 134
=, 34cm P 1 & . 0.462 m

BE . ¥ ME: 400 m EHNo. 135
=% - 36cm - 1 7 - 0.518 m
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faiiE - ¥ ME: 4.00 m EHENo. 136
=k 42cm x#: 1 Mg : 0.706 m

g - ¥ ME: 4.00 m EHNo. 137
=k 44cm ¥ 1 Mg : 0.774 m



fatiE ¥ M
=k : 42cm x#: 1 M : 0.706 m

g - ¥ ME: 4.00 m EHNo. 139
=k 44cm ¥ 1 Mg : 0.774 m
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g - ¥ ME: 4.00 m EHENo. 11311
?“i’&& : 40cm ¥ 1 Mg : 0.640 m



faiiE - ¥ ME: 4.00 m EENo. 142
=k 48cm x#: 1 Mg : 0.922 m

g - ¥ ME: 4.00 m EHNo. 143
=k 44cm ¥ 1 Mg : 0.774 m



fatiE ¥ M
=k : 44cm x#: 1 & : 0.774 m

BE . ¥ ME: 400 m EHNo. 145
=% - 46cm - 1 7 - 0.846 m



1BfE . ¥ ME: 400 m EIENo. 146
=% - 46cm R - 1 & - 0.846 m

BE . ¥ ME: 400 m EHNo. 147
=% - 42cm - 1 7 - 0.706 m
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faiiE - ¥ ME: 4.00 m EHENo. 150
=k 42cm x#: 1 Mg : 0.706 m

BE . ¥ ME: 400 m EHNo. 151
=% - 38cm - 1 7 - 0.578 m
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s - & ME: 4.00 m EIENo. 154
=k : 42cm . 1 & . 0.706 m



